Warm-Up October 3, 2018

Solve each system using substitution. Check your answer
by graphing on the calculator.

SOLVE. PLUG-IN. SOLVE. PLUG-IN. SOLVE.
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ELIMINATION METHOD

Main Ideas/Questions Notes

a method for solving systems of equations

WHAT IS IT? | in which you add or subtract the

equations to eliminate a variable.

Step 1: Make sure equations are lined up!

Step 2: 1 o equations to eliminate the variable

STEPS T0 SOLVE with common COQ.*F’F ).C. l Qf”ﬁ'
Step 3: ;S Dl YQ[ the equation for the remaining variable.

Step 4: %"' ] | \ your answer into either original equation
nd S IVQ! for the other variable.
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Solving Using Elimination

Ex.1)y =3x+4
y =X-2

Are the equations lined up?
Do x orfy have matching coefficients?
Eliminate x or,

Are the signs t or different?
Add orlbtract?)
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Solving Using Elimination

Ex.2) x+4y =13 \4”8 the equations lined up?
X-y=3 D r y have matching coefficients?
Ellmlnat ry?

Are thr different?

Add o
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Solving Using Elimination

Ex. 3) 3x-10y = 14
3x-9y =15

Are_the equations lined up?
D r y have matching coefficients?
Elimlnate®>r y?

Are the signs th :@o different?
Add or




Solving Using Elimination  Are the equations lined up?

Do x or y have matching coefficients?
Are the signs the same or different?
Add or subtract?
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MORE FRACTICE WITH ELIMNATON

QUESTION: Wwhat do you do if there are no matching coefficients?

ANSWER: Multiply one or both equations by a
“number to create matching coefficients.




2.9x + 3y =12
2X+y=5
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